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Note : Attempt any two questions from section-A. Four from 

section-B and two from section-C. 

SECTION-A 

1. Distinguish between primary data and secondary 20 

data. What are the methods of collecting primary 

data ? Point out their advantages and 

disadvantages. 

2. (a) Define mean deviation. How does it differ 20 

from standard deviation ? 

(b) Calculate standard deviation from the 

following data 

Range Frequency Range Frequency 

0-10 4 40-50 14 

10-20 6 50-60 8 

20-30 14 60-70 13 

30-40 16 70-80 5 
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3. What is meant by probability distribution ? Bring 20 

out the important features of normal distribution. 

4. Distinguish between probability sampling and 20 

non-probability sampling. Write a brief note on 

the important probability sampling procedures. 
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SECTION-B 

5. (a) What is meant by the concept of sampling 12 

distribution ? 

(b) Explain the concept of standard error. 

6. Distinguish between the concepts of correlation 12 

and regression. Estimate the linear regression 

y = a + bx from the following data. 

x 1 2 3 4 5 

y 2 5 3 8 7 

7. What is meant by a contingency table ? What are 12 

its uses ? How do you test for the independence 

of variables in a contingency table ? 

8. What is a life table ? What are its uses ? 	12 

9. (a) Explain the axiomatic definition of 12 

probability. 

(b) Explain the Baye's theorem. 

10. What is t-test ? How is the test used to examine 12 

the significance of the difference in means between 

two samples ? 
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SECTION-C 

11.  Distinguish between type-I and type-II errors. 6 

12.  Write a short note on the concept of rank 

correlation. 

6 

13.  Explain the concept of confidence interval. 6 

14.  Explain the method of ordinary least squares. 6 
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